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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data

—e— dFVI
0.04 1 —@— dFVO

0. 02 -

0. 00 - L

-0. 02 ~

-0. 04 ~

15.0

17.5

20.0

300 1 —@— puc
275 -

250 ~
225 A
200 -
175 ~
150 -

125 -

12.5

15.0

T
17.5

20.0

27.5

200 A

—&— FRV

180 ~

160 -

140 ~

120 -

100 -

80 A

15.0

17.5

20.0

—&— FRC
0. 6505

0. 6500

0. 6495

0. 6490

0. 6485

0. 6480

12.5

15.0

17.5

20.0

30.0

32.5




400

300

200

100

30.0

27.5

25.0

22.5

20.0

17.5

15.0

12.5

80

70

60

50

40

2000

1500

1000

500

3.0

2.5

2.0

1.5

1.0

0.5

1.4

1.2

1.0

0.8

0.6

0.4

0.2

Plot [["I", "lopt’], ['T", "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAl’, ’optEtRate’]
| v N R —— m—
zymeed LB S Y LIV gy yray S
\\/ [\ —
|| "Lj'v ‘v v V T~
1
A
|
|
!
i
l
0 25 50 75 100 125 150 175
d
i A— N\~~~ L"' T |
: —~N\IF v—\v\’\/ —
: \'\v_
| NN
! o
vapRw ;
SATAIPY -
UJ VV\/ vi\N
1
0 25 | 50 75 100 125 150 175
d
i T
: = RHopt |
1
L
\E AL N
~ i v
. i
AR B
Wi a
! :
0 25 50 75 100 125 150 175
d
— ETel
optETcl
WM\‘M
0 25 50 75 100 125 150 175
d
i — LAl
s N
i // -\—\
1
1
0 25 50 75 100 125 150 175
d
i f"\ | optEtRate
1
1
\ N \ M | W\J\J\VJ\J\/\ ANAVYARAY) VWA
1
il |
| ! '
1
1
!
| !
I
0 25 50 75 100 125 150 175



Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-10_0
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P3-10
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P3-10
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